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QUESTION 1

An experienced system administrator reports near maximum MPB utilization with VSP G400 arrays operating in a GAD
pair. Each array is supporting 100K IOPS with a 50% read workload. The MPBs should be capable of supporting more
than 200K IOPS with this profile according to the basic array sizing tools.

Which two statements are correct in this scenario? (Choose two.)

A. Cache mirroring between the two G400 arrays generates an extra MPB load which is not recorded in Hitachi Tuning
Manager.

B. Each G400 array is also processing 50K duplex write IOPS from the other G400.

C. The duplex GAD writes are changing the overall read/write I/O profile and the extra parity operations are causing the
high MPB utilization.

D. The internal array queue management scheme for GAD write operations causes MPB utilization to be doubled.

Correct Answer: BD

QUESTION 2
You are planning for a performance upgrade for a transaction application.

Which three metrics are necessary to determine the required back-end storage configuration in this scenario? (Choose
three.)

A. cache read hit ratio
B. read/write ratio

C. transfer rates

D. queue depth

E. IOPS

Correct Answer:. ABE

QUESTION 3

You are troubleshooting a potential marginal link in a SAN fabric that you believe is causing a performance problem.
To troubleshoot this problem, which two actions will allow you to view the detailed port statistics? (Choose two.)

A. Use the vendor\\'s GUI.

B. Use the appropriate host command(s).

C. Use the appropriate switch command(s).
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D. Use SVP Performance Monitor.

Correct Answer: AC

QUESTION 4

What are two benefits of placing transaction log files on RAID 1+0 disks for Microsoft SQL Server databases rather than
RAID 5 disks? (Choose two.)

A. Multiple transaction log files are supported.

B. Faster recovery after disk hardware failure is realized.
C. Capacity utilization rates are improved.

D. Microsoft recommendations are followed.

Correct Answer: AB

QUESTION 5

Which two port options are bi-directional on a VSP G8007? (Choose two.)
A. Replication-Target (RCU)

B. Open Target (TAR)

C. External Target (eLUN)

D. Mainframe (FICON)

Correct Answer: AB

References: https://knowledge.hitachivantara.com/Documents/Management_Software/
Configuration_Manager_REST_API/8.5.2/REST_API/Volume_allocation
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